Java Programming: Assignment 1

April 30, 2020
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public class Card {
private int rank;
private String suit;

public void setCard(String suit, int rank) {
this.suit = suit;
this.rank = rank;

}
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public String getSuit() { return suit; }
public int getRank() { return rank; }
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Code 1: Card.java
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public class Player {

private String name;
private Card[] cards;

public Player() {
/7 HEA 2E

}
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Code 2: Player.java
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public class Dealer {
private String[] suits= {"S", "H", "D", "C"};
private int numcard;

public Dealer() { numcard = 13;}

//
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Code 3: Dealer.java
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2.1 Tz Ad) 4
o [3¢ 71 AP35

| 3. mezoe e

------------- P E I L] el g -« T I | o
1. Qol_:l'gl 2. E:ﬂl 3. xl-ED}I:Fc‘Fll_Ell A, §—|0|__E_| £z

1. &7 | 2. 209 | 3. @@L g| 4. 2I0r2 | 5. ==



<HEH> 2

A RHE 0 12011234
W20l ¢ Kim
ek 2tz Sl SL0ICt,

<HEM> D
AEFHS ¢ 561156
H2A OIS ¢ Lee
oA (x, y) 12
ek 2tz Sl SL0ICt,

o A% 22 95

fZFoer | 3. A== | 4, HuEHE | 5.0 =2
<HEHS 3

12211234 =44

56t5678 H -~

i
2'-{_|
o
i
~
=]
2l

o [dloF 3% 2334]



<HEE> 4
AEFRHS 2 12041234
Kim

2.2 A W& 2 874
o =2 1919] gt Account. java, 2}gFo] st Vehicle. java, Bus. java, Taxi.java
830 AA 522 455l= main@4-S X $5H= VehicleReservationProgram. java
£ theu} go] Fold ZEES Iz Fgat Bt (4 x).

1 public class Account {
2 private String accountNumber;
3 private String password;
4 private String name;
5 public Account(String accountNumber, String name, String
password) {
6 this.accountNumber = accountNumber;
7 this.name = name;
8 this.password = password;
9 }
10 public String getName() { return name; }
11 public String getPassword() { return password; }
12 }
Code 4: Account.java
1 public class Vehicle {
2 private String number;
3 private String type;
4 public Vehicle(String number, String type) {
5 this.number = number;
6 this.type = type;
7 }
8 public void setNumber(String number) { this.number = number
i}
9 public String getNumber() { return number; }
10 public void setType(String type) { this.type = type; }
11 public String getType() { return type; }
12 }

Code 5: Vehicle.java



SIS IS

® =

10

11

12

13

IS

© 0 N e G s W

10

11

12

13

oW N

10

11

12

13

14

15

16

17

18

19

public class Bus extends Vehicle{

private String[][] seat;

public Bus(String number, String type) {
super(number, type);
this.seat = new String[5][4];

}

public void setSeat(int x, int y, String pname) {
this.seat[x][y] = pname;

}

public String getSeat(int x, int y) {
return seat[x][y];

}

Code 6: Bus.java

public class Taxi extends Vehicle{

private String seat;

public Taxi(String number, String type) {
super(number, type);
this.seat = new String();

}

public String getSeat() {
return seat;

}

public void setSeat(String seat) {
this.seat = seat;

}

Code 7: Taxi.java

public class VehicleReservationProgram {
private static Scanner scanner = new Scanner(System.in);

public static void printMenu() {
System.out.println("2fZF------------
o2 MULITH e ");
System.out.println("S¥7t1. | 21012, | =023, Bt2||
270124, | £85.");
System.out.println("

public static void main(String[] args) {
VehicleManager vihiclemanager = new VehicleManager();
AccountManager accountmanager = new AccountManager();
HashMap<String, Account> accountHash;

Account current_account = null;
while(true) {
printMemu();
System.out.print("/MEli>> "),
int selectNo = scanner.nextInt();
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21 if(selectNo == 1) { // 2|¥7

22 accountmanager.signup();

23 }else if(selectNo == 2) { // 212!

24 current_account = accountmanager.Login();
25 Yelse if(selectNo == 3) { // 2f2F ook 2t

26 if (current_account == null) {

27 System.out.println("21Q StAAIL.");
28 }else {

29 vihiclemanager.run(current_account);
30 }

31 }else if(selectNo == 4) { // 2102

32 current_account = null;

33 System.out.println("210IR E|UYSLICt.");
34 }else if(selectNo == 5) { // ==

35 System.out.println("ZZ1WE ZIGL|Ct.");
36 break;

37 }

38 }

39 }

40 }

Code 8: VehicleReservationProgram.java

e VehicleManager.java Z =9 4R H . g JLALgHo] ko] (A). addVehicle()
(B). reserveVehicle(), (C). vehicleList(), (D). printSeat() 3+
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1 public class VehicleManager {

2 private Scanner scanner;

3 private HashMap<String, Vehicle> vehicleHash;

4

5 public VehicleManager() {

6 this.scanner = new Scanner(System.in);

7 this.vehicleHash = new HashMap<String, Vehicle>();

8 }

9

10 public void run(Account account) {

11 boolean flag = true;

12 while(flag) {

13 System.out.println("
--------------------------------------------- ")

14 System.out.println("2t2F27t1. | 2p0||t2. |
AHRZ3. | ofdsE4. | 5. BR");

15 System.out.println("
--------------------------------------------- ")

16 System.out.print("/MEli<> ");

17 int selectNo = scanner.nextInt();

18 if(selectNo == 1) {

19 System.out.println("-------------------- ")

20 System.out.println("1. EBHA| | 2. B{A");

21 System.out.println("-------------------- ")

22 System.out.print("MEi<> ");

23 int vehicleNo = scanner.nextInt();

24 addVehicle(vehicleNo);
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}else if(selectNo 2) {
reserveVehicle(account);

}else if(selectNo == 3) {
vehiclelList();

}else if(selectNo == 4) {
printSeat();

}else if(selectNo == 5) {

flag = false;
}

}
System.out.print("ZZ21#HS ZZELICt.");
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private void addVehicle(int vehicleNo) { // *
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Code 9: VehicleManager.java

(F). Login() #45 TEA L.
public class AccountManager {
private Scanner scanner;

private HashMap<String, Account> accountHash;
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public AccountManager() {
this.scanner = new Scanner(System.in);
this.accountHash = new HashMap<String, Account>();

}

public void signup() { //3|27}2
// E. GE OIAEE 2d35HA| 2.
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Code 10: AccountManager.java
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